020 0O0O0OOOO A-calculus

21 DDOOo0OOoooo

gogobobuooooobobbooooooobooboobobboobobobobobobooooobo
gbooooobooobbobobobobooooboobbooboobobooooobooobooan
goobooooboboboobboo Wb0o0 ADDbODOO0ODbOO0OOO0ObOO0ObDOoDOoDO A
ugobobbooboobooobboooooobooo

O0000000untyped 0000000000 OOOOODOO

gboboooooooboboooooooon 0 oo
gdbooooobooboobooboobobboboooobbbobobooboboobobonoobo
goobooooobobbogd

021100000000 Church’'sthesiS 000000000 0ODOO00OO0OOO

gobooobooooooboboboobooboboooboboobobooooobooboobooobooooo
oboobooooboogooo

22 JUoO0O0obOooboboobood

gopoooooD xy,z...0000oooooboboobboboboobbol1locoooobobooon
ogoob “obbo’bobobobobooobnooboobooo

1. 00 —00oooobobobooooboo

2. 0000 —M,NOOOODDOODODOODODOMN)ODODOOODOOOO
obooboooooood good

3. 0000 —MOODDOOOxODDODODODOODODOWWxxM)DOODODOooooO
gbbooobooboooogan godd

BNFOOOOOOOOODOOOOOO

M VI“CMMY [ “CU2 VM)
Vo= XY 2]

oobol,23,...0+,-0000000000000000DO0OODOLOOODODOOOO
oooODO300boboo0ooOooboooooooboobooon

-1



goooboo

1. Axx)— 000 xOO0OOO0O0DODO0O0000D0OxO00DO0000oo0oooooooooooooo
SchemeJ 0O OO0

(lambda (x) x)
0o00d0o0oooocooaan
int id{int x) { return x; }

00000 id000000@O0O Schemel O xO intO0O0000O0O0O0O0O0OCOOOOO
00000000 000U0DOoOoOC0CODO0U00O0O0DO0OOOint0gooooog)

2. (x(ly.X)—O0000xO0000O000000O0@W.NO000000000000000000
(yOOODOOOOydOOOOOOOOOmMOOOOOO0O0OxO00OO0OO0O00O0000
00000000000000

A0O00oOooboooogooobobbooobboooboo *opbobobo"obbooo
oooooobboOooooobOoobobocubooo

int foo(int x, int y) { return x; }

000002000000 (x@yxy)OoOooOoOooOoOooOoOooOoOoooooooooo
‘“O00000ob"ooooboooooon Oo000CuryD OODOODO
00000 HaskellB.CurnyD OO0 0000 OooOO

3. Af.x(f(fX))—O0 fO0DO00 xO0OOOOODODOfO xO0 200000000000

23 JUObOOobDooobbbooog

000 1+2x3-1+6-7000000000000000000000000000000000
0D00000000000000 (AxX00OOOO00000000000 MOO00 O(@xX)M) = M
0000000000000000(@f.x(F(FX)MN) = (AXM(MX)N) > (M(MN)) 0 0 0 O

000000000000000000000000000000000000000

Ooo0oooono ((xM)UOooOoOopoOOoOOoOOOxOooOoOoooooOoOOO0 bounddOd OO
ooooMObOODOOobOOoooobOoccudobom O bound variabled O 0O 00O

0000000000000000000000 0 free variablé 0 0 0O
000 O0@Ux(xy)0 x00OO0O0000yD 0000000000 0((Az92)0 200000000
000000000000000000z0 (1z...)0000000000000000000
00000000000000000000000000000000000000000000
000000000000000000000000000000000000000000000
00000000

-2



00000000000000000000000000000000000000000000
000000000000 0@Wx(yXY)O (1z(y2)D0OOOODO0OOODO0O0O0MmMOOO0O0OO0OO00000
0o0oo0o0o0ooo0 00000000MO00 0Ux(yx)D (y(yy)00o0o0o00o0o0O
000000000 «000000000

OO0 0O0OO0OMNOOOxODOODOO[N/XMOOOOOO MOODOOOO xOOOOOOO
NOOOOOOOOOOoOoOooooooooooomoo [/])-000000000000000
go“00"dooooodd

000 O[(122)/X](Ay.(xy)) O O (y.((1zzy)) DO 00O O[(4z2)/y](Ay.(xy) O Oy.(xy)) DO OO O
O0yOD (y.xyy)DOODOODDOOOODOOOOOOOOOO

pul OUOO0bOOO0ObOOOobOobbOOoOogppOObOObODOObOO0ObObO0O0OOOOoObLDbOO
good

((AX.M)N)
gooogooooood
[N/XIM

guobboooboobooobobbooubobboboboooboon gaoo

O (AFAX(FENUYYD D ((x(y((yy))2) S ((yy)((yn2) S (yyd S 2

oooboooboboo gbooboogbopobbooooooooogon
gboboboboboobobobobbooboobooobobobbobboboooobooboboboooobogaon
ooboooobooooboooooboboonooobo
oooboppgbOooooboobOobobOobOon ooooMOOpODOOOOODODON
ooooooooooooooNOMODOOOODOOOODODOOOUOODODOOODOOD
gooooooooooboo

24 JO00O0OOOOO

gbogogoobooobboobobuoobobooooooobobbobbooboboboOoo
gooogg

1. X1 X2 -+ - Xp.M = (A%1.(A%2.(- - - (A%n. M))))
ddooA000oooooAobooooil1oooooo

2. MiMaMs--- Mp = ((-- - (M1M2)Mg) - - - )Mn)
00000000000 00000

-3



AXy.MiMaMs O (Ax.(y.((MiM2)M3))) D000 0000000A000000000000000
D000UWxM)M,0000000000000ax(M;Mx)000000000000000000
000000000

BNFOOOOODOODODODOOOOO

= F|“2W"."M W = V[VW
F o= A|FA Vo on= SRy 2]
= VMY

O: afxf(fx)0 Af.(ax.(f(fx)) 000000 O0@@XXX)AXXX) 0O (AX(xX))Ax(xx)) 0000000
pOO0O00O0O0O0O0OODODOO0ODODODOOO00DOD00O0 00000 L oo bLDOpoOU OO
oo0oDoooooooo

25 00OO0O0OODOOO

gogbooobogbboboboooooooobooboboon

O000OC0O0O0D0OChurch-Rossell0 00 O0OO0OOOCOO0OOOOOOOOpBOOOCCOOO
toodoooboooboppgbbooobboobooooouoooobooboogo

M
B B
Ml/ \Mz

gbobbobbobopgbboooobbbbobobobooobaooboboboobobod

M1 Mo
N

ooooooobobobobouoobog
gobbooobobboboooobooobooobooboobobobbUobbebbbDbODO
ooobooboooooboooobog

oooo oboooooooooooboobooOobOOoOoo?gObUOb0ObOOODOOOOORD
gbboouobogoooobboooooboboboobgopgobooboooobobboooonooo
gobobooboboooboobooboboboobn

O: (AXYW((AXXX)AxxX) O O UxxxUxxx) 0000 g0 0000000000000 DOO0Od0O
goooooogoooooonbooobayydonon

gogbogobbuodoobooobuuoub oo oo poooboobboboooog
goomooobooooooooooom

-4



26 U0OO0OoOoooon

gboooooboboodg oobbbboobooooboboobooooobooobooobooboon
googboooobobobooooboboooboobbboooooobLbboobooboboo o
gboboboooooubobooobabooobooo

000 atfe,aaf.f000000000000 truefalse0 0000000000 OActecteD 000
goooifopoooooooon

if true My Mo—" =M, 0 0 0 O iffalseM; Mo—">M, 00 0 O

0oze6l1000p0001000D0O00O0ODOODOODO

0000000 Church numeralll Afx.x, Afx.fx, Afx.f(fx),... 00000000 O0,1,2,...00
gobododoooooddgddeg,cg,cp,... 0000000 ¢y

AFX F(F(C--(FX)--))

nQd

0000000000 0pusOOO0DO000000O0OODOODOOO
Amnfxmf(nfx)
pluscmanCWnDDDD
0262000 p0000m=3,n=200 00000000 10000000O00O00O0O0O0OO
0ooooooooooooooooonoooooooooooon

0263000000000000000O000O0OOOOOOOOO
l.zero—@WOOOOOOODOOODOOO
2. mut—O0O0d
.pred—10000000OO

4. sub—L 00O Opredd 000000

O par0 AfsddfsO 000000000000 O00Ofstsnd0O000 OAp.p(Afs.f), Ap.p(Afs.s)
0000 fst(pair My M)—=M; 00 0 0 snd(pair My Mp)—2>M, 000 0

0264000000 100000000O0DOODOODO

0265000000000000cons,nil,isNull,car,cdd 00000000000 0O0O0O0

-5



YOOOOOO afaxfxx)Aax.f(xx)00000000 YOOOOYF ﬂ (AXF(XX))(AX.F(xx)) O

noooooooovuoooooudru S EEV) S S EEC--(FU)---)0D00DDOD
00UD FOOOOO000000000YOOOOO0000 00 fixed point operatdd 0 0 0 0 00
0000 YOOOOOOOOOO0O000000000000

000 Ofact0 00000000000000000

Y (Af x.if (zerox) ¢ (multx (f (predx))))
gooooooobooooooooooooogao

0266fact0 000000D0DO000OO0O0CODOUDOOODOOODODOODOOODOOAO zero,

mU|t,pI'EdDD|:|DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDpredC3£>C2DD
goboobboooooboboboo

factcs Y (AT x.if (zerox) ¢ (multx (f (predx)))) c3

L=

Ucs OO0O F dEef/lfx.if (zerox) c1 (multx (f (predx)))
U T ax F09) (X F (x)
FUcs

if (zerocs) ¢1 (multcs (U (predcs)))

= = =

27 0J00O00OOO

ugbgbbubooboboobobobobooboboooboboboboooobobooboobobabon
gbooooboooboboobobobooboboobbobobboboooooooooboobobon
00000000000000002000000000000000000000000000%0

ubobobbooooboobboooobobuooobooooboobooboboboboboobobobooo
goboobooobooooboobobooooobobobooboooboooboboboboobooboon
000000000000 HaskellDOOOOODOOODOOOOOOOOOHaskelo OOOOOOO
goboooobgbboobooobobbobooboooooobboooobobbooboobon
goooooooooo

guoboogoad

[1] 000000000000 000D0O00DO0OD0OD000000 —00000D00000000O
00O, 19990, ISBN4-00-006190-9

000D 0200000000000000000000000000000000000000000000000O0
goooboooooooooobobbo poooooboooUo“Oob"bbobbObOoDOObLDbUObOOO0ODObO0OD 0D
0 PoOOO0OOO0O0domaimO 000000000 DOODOOCODO

II-6



00000 http://www.kurims.kyoto-u.ac.jp/ cs/csnyumon/0 0 0000000000 A
0o0oooooboooooon

2 0DD0OD0ODDO0O0 —0D0O0OD0O0O000O0ODO0ODOOO00, 19910, ISBN4-7649-0184-6
gugbooooobobooobboboodad

8 D0D0DO0DO0D0O00DDU0DmMOODODUNDOOODNODODDDOOOD0ODODODODOOD O,19950,
ISBN4-7952-9663-4
120000000C00D0000OO0

-7



